212s-2 French-sleeve Bolero

Suggested yarn:
+ Pierrot Yarns Cotton Neat S [100% cotton; 104 yds/95m per 1.41 0z./40g skein]; color #33 grage, 9
skeins [345¢]

Tools/Notions:
+ 3.5mm (US E) crochet hook or size necessary to achieve gauge

Finished measurements:
* bust 90cm/35.43"

* cross back width 50cm/19.69"
* length 50cm/19.69"

Gauge (10cm/4" square):
* pattern stitch A: 23 sts and 14 rows
* pattern stitch B: 22 sts and 10 rows

Gauge may vary according to individual crochet style. Change hook size if necessary to achieve gauge. Alternatively, rework
pattern with your own gauge measurements.

..............................................................................................................................

Crochet Tips
Back body: Chain to begin, working first row into bottom loops of chain. Work half of back in pattern stitch A. Working
into ends of rows, work remaining half in pattern stitch B sideways.

Front body: Begin right front just like right back, and work in pattern stitch A. Start left front from side seam edge; work in
pattern stitch B.

Finishing: Seam shoulders with KUSARI-HAGI. Seam sides with KUSARI-TOJI. Work edging A in the round along
armholes. Starting by working into wrong side of neckline, work collar in edging B. Work hem in edging B as well, but
start from right side. Work front plackets in edging B.

Abbreviations:
ch =chain

..............................................................................................................................
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Edging B (3.5mm hook)

ing A (3.5mm hook)
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Pattern stitch A (3.5mm hook)
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Pattern stitch B (3.5mm hook)
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